1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

Important Note :

d as malpractice.

50, will be treate

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN\NM\

Time: 3 hrs. (L n "Max. Marks: 80

. .;"“Conslder the following list:
S 1 =[1,7,9,12,16] Give the outputs of the following commands:

Note: Answer tmy FIVE full questions, choosing one full questimiszfl\;\m each module.

o Module-1
Explain the two ways to use the Python interpreter. (04 Marks)
Give the outputs of the followmg expressions: .
i) 54//17 i) —1 74107, i) —16%5 iv) 17 %\-»140 (04 Marks)
What are the errors that ean Ue detected by Python" leferentlate between them with one
example each. (04 Marks)
Discuss about the 1mportance of descendmg the code (lee an example. (04 Marks)
\% OR P
Trace the function calls in the followin code y;‘usmg the memory model:
def f(x) : ) 2
x=2 %X 4
return x \
x=1
x=fx+1)+f(x+2) ¢ ) ( (10 Marks)
Demonstrate any 4 operations on. stfmgs (04 Marks)
Explain the usage of keyword arg“ ments “end” and sep:”. (02 Marks)
- Module-2
Discuss about the proce% of combining comparisons: Wrxte a short note on short circuit
evaluation performed by Python when evaluating combined’ comparlsons (08 Marks)
Elaborate the process’ of deSIgnmg your own modules with avﬁf‘lear example (08 Marks)
i) OR %
Describe the step . t test your code semi automatically with an exa.mple (08 Marks)
List any four methods in class str to demonstrate calling methods inthe object-oriented way.
(08 Marks)
e Module-3

“Lists, are Heterogeneous” Support the statement with an example.
Exp/lam the  process of modifying lists by using the memory model.

(04 Marks)
{12 Marks)

OR

() li[0:3] Gi) i[0:-1] (i) H[:=-1]

1 a
b.
‘o8
d.

2 a
b.
s

3 a
b.

4 a.
b.

5 a.
b.

6 a
b.

@(v) li[-1:-4] (v) Li[:] (vi) li[:4] (06 Marks)
Explain in detail about processing lists using indices. (10 Marks)
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Module-4

DISCUSS about the 4 techniques for reading files in detail. (16 Marks)

OR g, =
AN (06 Marks)

a.

b. (10 Marks)

a. (10 Marks)

b. (06 Marks)

a. \ ame type. (08 Marks)

b. he Models, Views and Controllers.
Give an example. (08 Marks)
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